

ROUTING FORM FOR TASK ORDERS - CITY MANAGER'S APPROVAL

Project/Contract Number:		CMO Lo	og #:					
Document Title:	es Repair	Attache	d: Soriginals					
Department: Public Works - Engineering								
	14-0112, 1-22	-14- PUL	2-2					
Purpose: A field testing technology necessary, at designated local Ave to train track (see Exhibit and a maximum of 6 SCP are Engineer (P.E.) and will proviof the findings. This report will be a support of the findings.	nician will perform state ations (to be determine t 1). The field testing se anticipated. A field da de a summary of the S	ic cone penetrated by the City's E ervices are expecta ta report will be CP test locations	ion (SCP) testing, and incoming the second to be perform prepared and sign the result of the	he Riverwalk from Andrews ned over a period of 1 day ned by a Professional				
FUNDING INFORMATION								
CIP Funded Project:	Yes 🖂	No 🗌						
Amount Required by Task Or								
Index/Sub Object Code:	P11825.	331-6546						
Engineering Finance Approve	al Sign: KMho	mbe 5/14/	15					
APPROVAL ROUTING -PUBLIC WORKS								
		Approved:	Disapproved:	Signature/Initials				
Raymond Nazaire, P.E., Proje	ect Manager	K K		A I I I				
Carlos Acosta, P.E., PMP, Senior Project Manager		И	Ш	Carly htm/ca				
Pedram Zohrevand, Ph.D., P.E., Assistant City Engineer				Ko HEJA Com				
Hardeep Anand, P.E.,		10	<i>,4</i>	1. In Hand 15				
Public Works Director				mary of				
APPROVAL ROUTING -FINANCE DEPARTMENT								
		Recommend Apprøval:	Disapproved:	Signature/Initials				
Kirk W. Buffington, C.P.M., Finance Director								
APPROVAL ROUTING – CITY ATTORNEY'S OFFICE								
		Approved as to form:	Disapproved:	Signature/Initials				
City Attorney				VIIIHe				
APPROVAL ROUTING – CITY MANAGER'S OFFICE								
		Approved:	Disapproved:	Signature/Initials				
Lee R. Feldman, ICMA-CM, C	,,,p,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		orginature/initials					

CITY CLERK'S OFFICE Upon approval by the City Manager, please route this form along with Task Order to PW- Engineering, **Kian Movafaghi** (Ext. 7818).

Rev. May 27, 2014

TASK ORDER #: 11			
CONTRACTOR:	AMEC Foster Wheeler Environment & Infrastructure, Inc f/k/a AMEC Environment & Infrastructure, Inc	CONTRACT NUMBER:	636-11225
	2580 METROCENTRE BLVD, SUITE 6 WEST PALM BEACH, FL 33407 Phone: (305) 826-5588	CONTRACT DESC:	2 YR CONTRACT FOR GEOTECHNICAL ENGINEERING & LABORATORY CONTRACT - P11895
	Fax: (305) 826-1799	CC AWARD: UNIT COST:	1/22/14,PUR-2,CAM#14-0112 \$200,000 CONTRACT CAP
TO:	City of Fort Lauderdale 100 North Andrews Avenue Fort Lauderdale, FL 33301	CITY CONTACT: PHONE: FAX:	Raymond Nazaire (954)828-8954 (954)828-5070

SUMMARY OF WORK:

A field testing technician will perform static cone penetration (SCP) testing, along with auger borings if necessary, at designated locations (to be determined by the City's Engineers) within the Riverwalk from Andrews Ave to train track (see Exhibit 1). The field testing services are expected to be performed over a period of 1 day and a maximum of 6 SCP are anticipated. A field data report will be prepared and signed by a Professional Engineer (P.E.) and will provide a summary of the SCP test locations, the result of the SCP testing and a summary of the findings. This report will be submited no later than Monday, June 15, 2015.

BILLING RATES INCLUDED IN CONTRACT					
ITEM #	ITEM DESCRIPTION	Qty	UNIT	UNIT PRICE	TOTAL PRICE
	Static Cone Penetrometer Testing	10	hour	\$55.00	\$550.00
	Staff Engineer	12	hour	\$85.00	\$1,020.00
	Senior Engineer	2	hour	\$130.00	\$260.00
	Clerical	2	hour	\$45.00	\$90.00
	Draftsman	1.5	hour	\$60.00	\$90.00

Total Bid Price Included in Contract:

\$2,010.00

AMEC Foster Wheeler Environment & Infrastructure, Inc.

f/k/a AMEC Environment & Infrastructure, Inc.

Contractor:

By: Dun A. Fathaway 5/13/15

Authorized Signature Page:

BRIAN S. HATHAWAY / CONTRACT MANAGER

Brint Name and Title

Page 1 of 1

Task Order No.:

11

Contract No.:

636-11225

Project No.:

11722

Contractor:

AMEC Foster Wheeler Environment & Infrastructure, Inc

f/k/a AMEC Environment & Infrastructure, Inc

\$2010.00

CITY SIGNATURES:	
	5/14/2015
Carlos Acosta, P.E., PMP Da Senior Project Manager	ate:
Tohverand	5/15/15
Pedram Zohrevand, PhD, P.E. Da Assistant City Engineer	ate:
Assistant City Engineer	_
Hardey thans	L 5/24/15
Hardeep Anand, P.E., Director of Public Works	ate:
A DING	5/2/11
	ate:
Director of Finance	•
Pluthe	1.8.15

Date:

CITY OF FORT LAUDERDALE, a Florida municipality:

Ву:

LEE R. FELDMAN, City Manager

Date

EXHIBIT 1

